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QUESTION 1

You have a read-only volume that needs protection within the cluster, but you do not have a SnapMirror license. Which
mirror type would you use to protect the volume? 

A. DP 

B. LS 

C. TDP 

D. XDP 

Correct Answer: B 

A load-sharing mirror reduces the network traffic to a FlexVol volume by providing additional read-only access to clients.
You can create and manage load-sharing mirrors to distribute read-only traffic away from a FlexVol volume. References:
https://library.netapp.com/ecmdocs/ECMP1368017/html/GUID-4931A901- D6D0-458B-8D3A-A92427FDD8B8.html 

 

QUESTION 2

Click the exhibit button. 

Referring to the exhibit, which statement about the volume move process is true? 

A. Client access to the volume is blocked during this phase of operation. 

B. The initial replication phase sent 39 MB from the source to the destination location. 

C. Client access is being redirected to the destination location during this phase of the operation. 

D. The cutover process failed and is in a holding pattern before being attempted again. 
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Correct Answer: B 

 

QUESTION 3

You need to duplicate a production LUN for quality assurance testing. The LUN resides in svm_prod and needs to be
available in svm_qa. Both SVMs reside on the same cluster. Which step will accomplish this task? 

A. Issue the lun move command. 

B. Issue the volume rehost command. 

C. Issue the lun copy command. 

D. Issue the volume move command. 

Correct Answer: C 

Cluster administrators can copy a LUN across Storage Virtual Machines (SVMs) within the cluster by using the lun copy
command. 

References: http://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
sanag%2FGUID-5B6FA678-31F6-4572-9E9E-B22637BAE911.html 

 

QUESTION 4

When a two-node cluster is expanded, which cluster configuration would be supported? 

A. a 4-node switched cluster 

B. a 4-node switchless cluster 

C. a 3-node switched cluster 

D. a 3-node switchless cluster 

Correct Answer: C 

If you are adding nodes to a two-node switchless cluster, you must have installed and configured the cluster
management and interconnect switches before adding additional nodes. The switchless cluster functionality is
supported only in a two-node cluster. 

References: https://library.netapp.com/ecmdocs/ECMP1636037/html/GUID-B13FF812-
785E-4E62-9914-30E7A8F51A4C.html 

 

QUESTION 5

Click the Exhibit button. 
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Referring to the exhibit, the write operations would be compacted into how many WAFL blocks? 

A. 4 

B. 2 

C. 3 

D. 5 

Correct Answer: C 

4k is the block size that WAFL uses to write on each disk. 

From the exhibit: 0.5 + 1 + 2 + 1.3 + 1 + 0.5 + 0.5 + 1 + 2 KB equals 9.8 KB, which would fit in 3 WAFL blocks. 

References: http://community.netapp.com/t5/Network-Storage-Protocols- Discussions/WAFL-questions-blocks-and-
stripes/td-p/31555 
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